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Note : (i) All the four questions are compulsory.
(i) All the questions carry equal weightage.

1.  Answer the following question in about 600 words :
Discuss the objectives of “teaching of science at
secondary level” with suitable examples.

OR
What is meant by “Enquiry approach”? Explain
its use, advantages and disadvantages in teaching

of science.

2.  Answer the following question in about 600 words :
Identify the main teaching points, formulate
corresponding objectives in behavioural terms and
explain the teaching - learning process that you
will follow while teaching any one of the following
topics at secondary level :

(@) Chemical Equation
(b) Cell Division
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3.  Write short notes on any four of the following in
about 150 words each :

(a) Laboratory method

(b) Approaches to lesson planning
(c) Blue print - concept, need and use
(d) Teaching of ‘Chemical Bonding’
(e) Teaching of “Mitosis’

(f)  Teaching of ‘Conservation of momentum’
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4.  Answer the following question in about 600 words :
Mention a few difficult concepts which you
encountered while teaching science. Prepare a
remedial material an any one of these concepts
highlighting the main steps involved in its
preparation.
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